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Part—B — General Intelligence and Reasoning

Haméset  :101-140

Questions :101-140

—

101.

- 102.

—
—

Choose the best alternative as the answer.
A factory always has
(A) Electricity

(C) Workers

(E) Answer not known

(B) Chimney
D) Files

Bsssflwner wrHm NenLemwis Caiiay ,Q&u‘wa.

e Qamihsreauie criQurgb GmUug

(A) Hemsmyid | (B) ymsCursd
(O Qsmflemeriser . (D) Gsmuyser
(E) ofen QsfNwefcrane

The total number of digits used in numbering the pages of a book
having 366 pages is

(A) 732 ) . (B) 990
(C) 1098 (D) 1305
(E) Answer not known

366 ussmsdr Oamam— @0 L&Sa 5SS 6n LESRIGET  aTaTaneuSe
Lweru @GS WD @Loﬁg,g; @mésasr&&erﬂe&r craenil&Eans ereucueTa]?

(A) 1732 g (B) 990 '

(Gy 1098 (1305

(E) eflen GzMweiicraned .
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103. 5=pFa+k 7645 PLVS@MUEG6TQGI3&ETY

Which of the following is exactly in the middle of ninth from lef end
and fifteenth from right end in the above arrangement?
A) #

B) $

© P
D) L

(E) Answer not known

Broupsddmps  gaugras weuupsddmiy udeabsrayy, Qeow |

Bremg HE wsH¥d o drarg g

® LTS B

5=ﬂF2*Kszs#§PLyS@MUE6TQG93&TY
(A # ‘
B s

© P

D) L

(E) dfeor Qsfucidana

n
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104.

105.

L

A dog runs 50 fe .
turnf o lef:JO feet towards South and turns to left runs 20 feet and
runs 7 feet and again turns to left runs 6 feet and then

turns to ri
e ﬁ_rlghF l’Un'S 15 feet and finally turns to right and runs 5 feet.
ow which direction is the dog facing?

(A) East (B) North
(C) South | (D) West
(E) Answer not known

@@ prureng Qgn@ Hos Cpredl 50 oy gmb @uu VDG @QLgy Yo
Al 20 @iy gipb ¢EAPE Bar@Gw @Lg Lo HmbA 7 Sy STD @
Yo, @Lrg upb HBHnA 6 iy gipw eHEDE. Bar@b eueg LD U
l§ Sig b @uu 9nE Qndwuns eueg Lo Hmbd 5 iy g1 REHDS-
sHCGung Sibs BEIL by Hang Crrsd @) mHaEGD? '

A Syse B) aLss

(C) Qspe (D) Cupe

(E) e Qgfluisiidene

If A is 50 m north east of B, B is 50 m north west of C, then C is in
which direction of A?

(A) North (B) North west
(C) South - (D) South west

" (E) Answer not known

A seg B s aLdpss fosdod 50 & gmpdan B oy C s
aLCupe Hosde 50 8 grpden @oudar, A &g app Hesuiid
C @mé@w?

A) «léE - B) aGups

(C) Qszpo (D) QgenCGumes

(E) e QzMwaiiden
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104.

105.

A dog run i

turnsg o leSft50 feet towards South and turns to left runs 20 feet and

turns to rigl :Uns 7 feet and again turns to left runs 6 feet and then

N Ho 1 1_ run.s 15 feet and finally turns to right and runs 5 feet.
ow which direction is the dog facing?

o (B) North
(C) South D) West
(E) Answer not known

@@ prunerg QsmE Has Crrsd 50 <ig gmbd @uw GpG QL& UDb
AewA 20 <@g gimb @AADPg Bar@w @Lg o Hrbd 7T Sig SO @Y
9InE. Prg HLTJU) A 6 g gb ¢OADE. B&THb eueg UDb SHHLA
15 <iq grrb @uw Gpe pduns wag ypb AGDA 5 Sig. 17D T OLAAR
sHGung 2ips Bl aphs Haog Crnsd @) méEW0 ?

(A Syses (B) aus

(C) Osp& (D) Gwps

(E) e Qsfluiciidvens

If A is 50 m north east of B, B is 50 m north west of C, then C1isin
which direction of A?

(A) North (B) North west
(C) South (D) South west

" (E) Answer not known

7

A oaig B 66 auLdpss Hawsdd 50 8 gmsded B warm C &
L GupE Sosudd 50 S gysdand Gmuden, A &5 aps Hewsde
C @mé@w?

(A) auLss . (B)-)a.ll_('smfp@

C) Gsp® (D) GgenCGiomes,

(E) oflenr Qgsflwciicrene
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106. Seven executives P QR,S, T, Uand W reach office 1 Particy]y,
T s not immed;

sequence. U reaches immediately before P but doe edlﬂtely

follow S. R is the last one to reach office. T follows 1mmfed1ailzlely afte,
‘ k urth in’
P and is subsequently followed by W. Who ranks lourth in

Sequence of reaching office?

A) W
B) U
O T

D P

(E) Answer not-known

GIQL;; Breurdlaer P, Q, R, SS T, U wppdp W @A auflenguly
Sigaessas s dapart. U, P-seg (y)GUT e Leanguns Geape Apny,
SpET® S-apw e Lanqursl  GeaGgrreldme. R srar  selflun,
SQauassms s flpmi. T aamer P-s@u Qe Qe Qzrifmmi WwHmih

W aemueur T-eow Qe Qsr_iflempmir, eraGeu, BIfISTeusns Sigieuassams

DL BFGUN wmir?

A W
B) U
Cj T
D) P

(E) ofer Qsfweldana

GST2AM/2025 100 ) &



107. According to.a code language, words in capital letters in Column I

ars ritten in small letters in Column IL. The letters in Column II
are jumbled up. Decode the language and choose the correct code for

the word given as questions.
| Column I Column II
(i) CROWDY (a) blooppv
(1) SOUND (b) jkgotv

(i) CRUX () ijktv
(iv) CRONY (d). ikmop
(v) NET (e) cymv
(vi) ADDRESS () abi

- Find the code for NEET

(A) abbi | (B) baai

(C) biia (D) ibba

(E) Answer not known
GOSL® Qumfleryg Qeraumbd CasarelsErsEl ufwalds Qeraumbd
sl Lgssalb, Column I @d odrer QuAlu arsdd o drer Qempaer
Column II @& fAfw awsded eawsiupererg. Column II Q& o erer
TPSHET  smbg Qearsslul@ererg. Gwmfew KGsTl - Qalg,
Qar@ésriu L Caearailssnar sflurer @duii s CabghH&seab.
Column I Column II
i) CROWDY (a) blooppv
(i) SOUND (b) jkgotv

(iii) CRUX () ijktv
(ivy CRONY (d) ikmop
(V) NET (e) ijv é

: ~(vi) ADDRESS () abi
NEETs@sé sflumer GO L& s Hlweyb.

(A) abbi (B) baai
(C) biia (D) ibba

E) deoL Apfuadom
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| . e diffe -om others.
108. Choose the number group which 18 different fror

A) 71,17, 3,17 (B) 67,71,3,5

(C) 41,5, 3,47 (D) 37, 14,19, 7

(E) Answer not known

Esangnib cramaefld Ceaugul L eT@T Gl eT(pGI%-
A) 71,7 8,17 (Bf* 67,71, 3, 5
(C) 41,5, 8, 47 (D) 37, 14,19, 7

(E) e Qsfluefdeame

109. Choose that set of numbers from the four alternative sets, that ig
similar to the given set : (81, 77, 69)
(A (56, 52, 44) (B) (64, 61, 53)
(C) (75, 71, 60) (D) (92, 88, 79)

(E) Answer not known

£Cp Qsr@ssuur Gerar Asn@riysaild, (81, 77, 69) erergyib Qzm@u9ne
Qaarunaiwss CsipQs@és

(A) (56, 52, 44) (B) (64, 61, 53)

(C) (75, 71, 60) (D) (92, 88, 79) .
(BE) efer Gsfweidvaa :

N

GST2AM/2025 . 102




110. In the following questions,
alternatives, which whe
complete the pattern,

1]

(A)

(&)

(E) Answer not known

O

Gl

(B)

)

sclect a figure from amongst the four
n placed in the blank space fig(X) would

Sereumib Caarcl@a, prens wrppsaild Qs e.oauposs CarrpRalisa
aeyuL (X)-Qa e drer Qaupdlgans Hyiys.

(A)

©)

\

ap
C

72 9

®

Q“ .

‘?

¢

(© o

(E) efenr Gpflucidmd

(B)

(D)

103

X)

X

N

QLY

Q)

L9 |
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“ -1 e" Of the fi
111, From the options, choose the correct “water imag : g (X)

X)
(A) @ (B)
(C) , (D)

(E) Answer not known

Qemaumid eermedey, @Quib Qupmerer uLb X)-er sflwrear f}mﬁ]mugmgg
Cairey Qauis.

| ®
@ @ (B)
©) (D)
(E) ofen Qgrﬂmaﬁld)a)a;
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112. Choose from the options the correct mirror image of the given figure.

A
(A) & ®) A
© ‘ A D) V

(E) Answer not known

Qan@&sulL uLgdar sflwner semammy. NbDLD ETETs.

A
@) v A ®) A
- A ®) V

(E) ol Qaflweiidiena

& 105 GST2AM/2025
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113. Statement : Smoking is one of those human Sses Whi,

tend to test the will power of the smoker to the edg,

Conclusion: 1. It is very difficult for the smokers  to Blve W |

smoking even if they want to do so.

II. Human beings have other weaknesses as well.

(A) If onb; conclusion I follows
(B) If only conclusion II follows
(C) If neither I nor II follows
(D) Ifboth I and II follows

(E) Answer not known
FpD 1 yes  Ggliug weflgafler  Lweiand oG, BG  @meuafd
gsenanbl9sens Gondésb.

wyey @ 1. Hers  Ygliueuis@néE Sieuiser el Narmgyib S
eflleug Blaab sy arb.

II. weflgita@néE Coum fa LeeSerhis@sib &é&m@.
@A) wue I s
B~ wpygay II &M
©) wyey I-b wde -k Biehev
(D) wye I, 11 &M

(E) " aQeni CsflweNdena

GST2AM/2025 106 -




phe” W o o om bmoy

114 Which word of the options ¢

T

annot be formed using the letters of the

following word :

ENDEAVORS

(A)

(B)

©)

(D)

(E)

VOTE
ROSE
END

DONE

Answer not known

Gemeupd Qsmpsafie ‘ENDEAVORS' aanp Qamddlar erpsgisaiad®bs

GY
(B)
(C)

(D)

(E)

o (meun&s (plguing Gemed 6rgl?

VOTE
ROSE
END

DONE

e @g,rﬂmaﬁlmww
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115. These questions are based on the following information :

(i) ‘Ax ﬁ’ means ‘A ié Mother of B’
(ii) ‘A + B’ means ‘A is Son of B’

In B x J + P, how is B related to P?
(A) Mother

(B) Uncle

(G Wife
(D) Daughter

(E) Answer not known
@ps Caerellaar LﬁisierU@Lb SHEUDEMET Blq LI WITSHS QareTLeney :
(i) ‘AxB aeug ‘A eérug B Wer gmi’ |
(i) ‘A+ B aarug ‘A eeg B Wer waer

BxdJ+ P& Beerug P- oan GTGiJQJn-'QJ QsriyenLwg?

(A) smi

(B) wmon
{0 et
(D) wser

(E) dflenr Qsflweldrena

GST2AM/2025 1ok



- 116. Find out the right option for conclusions to the statements given.
|

T

Statements : All candles are lamps

All lamps are bulbs

Conclusions : 1. All candles are bulbs

A)
(B)
©)
D)
(E)

II.  All bulbs are candles
Only I follows
Only II follows
Both I and II follows
Neither I nor II follows

Answer not known

QarPésuiul L oflsassalar  uasEnsstar  sflurer  ABULS®S

gL Hwa|.

Sfsmssd :  aoar QuEausdsEpbd ellaéEse oL Eb

crean dlargEsEpb Werellaré@adr @b

wyesar L. eaden QuGauisHaEsb Wereleard@adt <u@wb

[I. aoor Haalears@s@b QwwEauTsHsdr @b

(A T v Qsmrsssss

(B)
(©)
(D)
(E)

IT wr @b Ogrrsséss)

I wpmw II Qgryssées
I wpmid 1T Qprrsséesde
Aen QgMweildena

109 GST2AM/2025
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117, iaqi
7. Find the missing number

A) 3
B) 9
(C) 1
(D) 2

(E) Answer not known

QPuLL @Lges Fylys

A) 3
(Bf* 9
© 1
(D) 2

(E) efer Qsfweldena

GST2AM/2025 110,
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118.

119.

T

how man :
In Y Ways a committee consisting of 3 men and 5 women
can be formed from 5 men and ¢ women?

@) 15 B) 30

(C) 60 D) 19
(E) Answer not known

5 gyamaar, 6 Quansefdmhg 3 amadr, b Quansar Qe @O G
aggear auflsafler Coip0s@sswm?

A) 15 (BY) 30

(C) 60 - (D) 19

(E) oflen. @sRwelidvena

A box contains 2 white balls, 3 black balls and 4 red balls. In how
many ways can 3 balls be drawn from the box, if atleast one black
ball is to be included in the draw?

(A) 32 (B) 48

(C) 64 | (D) 96

(E) Answer not known

gm Quiiguid 2 Qeudrear Ap upgsEs, 3 s®UY Hp ubgisEpD 4 sy
BD LbSEEHD D-CTETET. GOPHSULED @O SMBUY UHS Qaraw 3 upgsar
a0és CaucnBEwald assoa amssalld Aapop ahEswmb?

AaN32 (B) 48

(C) 64 (D) 96

(E) e QsMweiicrene
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120. In the given figure (i),(ii) are related to each other. Find the odq One |

@) (ii) G () @) (i1) @ G

=[x] [ X[ [¥]%]

1 2 3 4

A) 1
B) 2
C) 3
D) 4

(E) Answer not known

ECp QsrRssuu@earer gaCprQureny sbupsiuc (1), (1) uLmseiy
QurmsswHp ULS®SS &ETHEY.. |

() (ii) (6Y) (i1) () (11) (1) (ii)
BB | ()]< L IE-SE:
1 2 3 4
(A 1
(B) 2
© 3
(D) 4

(E) &fleor Qgflweldrenay .

n
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121. A piece of ice floats on water

T

(A) Often

(B) Sometimes
(C) Never

(D) Always

(E) Answer not known

e vallss g gamentile Wgsdng.
(A) Sigssn

(B) Aa Cryrsaid

(@ g@Curgd deLwng

(D)  ersGungb

(E) ofenr QaRuwchidvera

- 113
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1 |
. boys. If = |
122. In a class 2 of the students are girls and rest are boy 5 Of the
5

girls and L of the boys are absent, which part of the total numbe, of
4

students is present?

77
) A
50
62
© 100- D) 100

(E) Answer not known
U] Gugmfﬂeb o_drereuisealled % Ui wrerellaer. 58 2 drarausg
LOTETaT&eT. Bieuigafled % umbiE,  reTell s @mnLd A UM  LomesmTeuria ey

veataflég aureldme aafld eeiouara; ke wrarautrsdar (Boys and Girl)
ueteflé@ cupbgierararni 7 ;

17 - T
- (A) o : _ (B 00
62 50
c) — 2
© 100 D) 100
(E) fer Qsfuciosme
128. Choose the correct alternative :
ab__ __ _baa___ ——ab__
(A) aaaaa | (Bh.aabaa
(C) aabab (D) baabb
(E) Answer not known
sfluner wrheop Caiay Qsus,
ab___ __ _baa_ —ab__
(A) aaaaa ' (B) aabag
(C) aabab " (D) baabb

(E) oL Asflusidame

GST2AM/2025 114
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WL ppren—— B e G PR o W BT gy R Y W e Ty T THREp TR R, TN T, TN .

P DY A Ry e

L T e e b R e i e e e

T

124. Study the diagram below and jdent; : ,
entify the region representing youth
who are unemployed but net educa tez g1 P gy

(A)
(B)
©)
(D)
(E)

&G odter aueruLgpl unsg uniss, @QEO Gaumauldorg parmd
U &ETE Qe ismard GN&ED LGHows sdrHluieyb.

Educated

2 only
6, 7
2,5, 8
5, 8

Answer not known

A%h‘
N,

CauaawenLGuim
(&) 2 wrEw
B) 6,7
©C) 2,5,8
(D) 5,8
(E) oer Qgfusioama
115 GST2AM/2025

[Turn over



125. The following question is based on a dice numbered 1 to 6 j,

different ways as indicated.

If 2 is opposite to 3 and adjacent to 4 and 6 then which of the

following statements is necessarily true?

(A)
(B)
(C)
(D)

(E)

1 is opposite to 5
4 is opposite to 6
4 is adjabent to2and 6
1 is-adjacent to 2 and 3

Answer not known

1 wpsed 6 aery aamefl_Luc fder @m usoLadWs sHEHD Qsan(

eflenL_wefl.

aam 2, 3 &@ adfigud, 4 wpmb 6 & SIHEYID @) (LD 6tr &g;ésaséfm_

FaHmIsEHET oTgy) &ifl 2

(X)
(ﬁ)
(C)
D)
(E)

1, 5 65 adfler QmsE0

4, 6 & affler Qms@bd

4, 2 5 6 &&b <mADd B (m&@Eb

12 &@W 3 &b S|(méled AIGEICT I

e QsNwafdena

GST2AM/2025 116 ::




126. If A is B’s sister, C ig

B’s e s d E is D’s
mother, then how is A re mother, D is C’s father an

lated to D?
(A) Grand Daughtey

(C) Aunt

(E) Answer not known

(B) Daughter
D) Father

: D aerueur Clernr sihans
opgi> 1 eremaui D@en sml. dpg A ereru

i D oLer erédueummy
Qsmiiyen_weu? ‘
(A Gugd _ (B) waér
(C) DiSNnG D) bt

(E) oo Osflueiome

127. Pointing towards a woman, Raj said “She is the daughter of my
wife’s sister”. How is the wife of Raj related to the woman?

(A) Aunt

(B) Daughter

(C) Sister

(D) Mother

(E) Answer not known

R QuaTeans &ML, TR “leud adr weaaellear sCarsNular wadr aars
gafflarmir. gy ereueuflen wevarell SICLETEMISES, e e pey?

@) as8

(B)/’ LD&EIT

(C) sCans

(D) smy '

(E) oflen GpRwalicrancy

T
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128. In a certain code language,

‘Sea in deep’ and ‘698’ means ‘Sea looks blue’. What number is

code for ‘looks’?
A) 4
(C) 8

(E) Answer not known

‘481’ means ‘Sky in blue’, ‘246’ Meang L
|

(B) 6 | %
D) 9

o GHUEOLL GHSEE Gumuie ‘481’ eretmmed ‘qurab  Beld’, ‘24¢

e ‘GG @ppwrarg’ Hpib ‘698’ erepred ‘SLe Bewrar Cembpw’ ereny

GhEstur L, ‘Camppsdpsnar s GHSLE Qumf eremen?

A) 4
(C) 8
(E) e Qsflweicvana

129. Choose the odd one out :

(A) AEHL
(C) HLPT

(E) Answer not known

CaupulL geateans CasibOsH&s :

(A) . AEHL
(C) HLPT
(E) deoL Qsflueidema

GST2AM/2025
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(B) 6
® 9

(B) BFJIN
(D) MQVZ

(B) BFJN
(Dh MQVZ

n



130. The same relat; e S
1onship obtain in one of the 4 alternative given

be]on :

Evaporation : Cloud : Rain

(A) Snéezing : Cough : Cold
(B) Accident : Injury : Pain
©) Tannihg : Leather : Purse

(D) Bud: Flower: Fragrance

(E) Answer not known

o elwnge : Gusid : wenyp

Bbs QeansE Qurpssworar Goaowus Caibsbss :
(A) gbwe : G : safl

(B) aﬂﬁgg-: smud : uadl

(C) Gare usalPze : CoTD : LemTLienU

@) Qur@ : wei : FHILOELD

(E) e Qaflwaiicrene

= 119 GST2AM/2025
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131. Choose the best alternative as the answer :

Which one of the following is always found in Bravery?

(A)

(B)

(C)

(D)

(E)

Courage

Experiences

Power

Knowledge

Answer not known

Basgflwrer wrom oL aws Csiey Qgus.

aigggiLar Hewdu@ueaflb Spssrarmucpmer erg el ?

(AN egflub

(B) oigueuiiser

(C) s34

D) =iflay

(E) &er Qsfllweldema

GST2AM/2025 | 120



131. Choose the best alternative as the answer

: 2
Which one of the following is always found 11 Bravery'

(A) Courage

(B) Experiences
(C) Power

(D) Knowledge

(E) Answer not known

Bassfwuner wrpgy oL amws Csiay Cals.

airggLen Qewdu@ueuflib EpssTarueubmieT ag srerTiiuGib ?
(AN esfAwd

(B) <i@uensedr

© o58

(D)  <ifley

(E) e Gsfweldena

GST2AM/2025 120
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132. Which figure in the option is embedded in the pattern given in

figure (X)?
C
11
(X)
—
&) (B) ﬁ'é
/N
© DN/ (D)

(E) Answer not known

QsrRésruLGerer (X) uLgdd aps e Baud LoD hHgeTerg) ?
X)
A) - ®

=

—]1]

N

e g | (D)

(G

» /

/

(E) eflenr Qgfweioooa

& 121 - GST2AM/2025
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wer the '
133, Study the following arrangement carefully and ans ¢ Questig, |
. ]

given
RD]5E%K3J191’8#A2BSKMGW@N4©T"7FH

above arrangemey, |

How many such consonants are there in the
a symbol and lmmcdim,,b
t

each of which is immediately preceded by
:

followed by a number?

(A) One
(B) Two
(C) Three

(D) Four
(E) Answer not known
’

ECp Qan(éasiulL Gpm s suaons ug bz Hamailhe S welis.
RD15E%K3J1 9P8#é2!3$__K_M 6W@N4 @T*..‘7 FH

Copefu@i. Qsm.flo @EISPss waambd HOizss adrgnd |
Boiswny appma QuiQuupsysad ediarar?

(M gap &\

By @ran®
©€) ey
(D) prang,
(E) Sau Gsfudida

b

GST2AM/2025 -



TSI 1

wer the :
133. Study the following arrangement carefully and ans ( Questi,, j

given

RD15E%K3J19P8#A2BSKM6W@N4oT*7FH

te are there in the above arrangemen,

How many such consonan
each of which is immediately preceded by a 8y mbol and immediate), {

followed by a number?

(A) One
(B) Two
(C) Three
(D) Four

e i

(E) Answer not known

£Cyp QanRastiuiL Ogmers saanons uypsy damdpe daorweflis,

RD15E%K3J19P8#A2BSKM6W@N40T*7FH

%

Copefudce Gsm fld @EASReE édamd HEsssrs adegys
BoAcwiy appoar QuuQupbsidad o diaar?

(A gy e\
B Goar®

©€) wop

(D) preng

(B) daL Asfudome

"
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134, Statement

Conclusion : 1,

(A)
(B)
(C)
(D)
(E)

s

Pieey ©

(A)

‘We follow wome of the best and effective teaching
learning practices used by leading institutes all over

the world - A gtatement of a professor of
M.N. Institute.

The M.N. Institute is one of the leading institutes
of the world.

II. Whatever is being followed by world’s leading
institutes will definitely be good and useful.
If only conclusion I follows
If only conclusion II follows
If either I or 11 follows
If both I and II follows

Answer not known

priuser flo opunar, sflurer umid sHhiSsEd sHpdsmen,
eofd eder Quilu Ppaaisdd Rets Lsips ah384Cpmd

- M.N. Institute Professor.
I. MN. fgaed caddd edo go Hpps Speand.

[I. codd cda fpts Ppeuadsd soLSgiEd pdhaama;
pho@usensaib, Und edi@aursad R @Asb.

ey I wlOw of

(BN gpya I v of
(C) apyey 1 wwveg 1T o8

D) pwey | wpgw 11 A
(E) Ba. Qgfustida@
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: : t e i ation :
135. This question is based on the following inform

A# B means A is divided by B
A * B means A is multiplied by B

Salary of Ram is (A) 80% of salary of Ravi is (B).

Find out the right choice to present it :

(A) A= (100#80)* B
(B) A=80#100#B
(C) A= (80#100)*B
(D) A=80*100*B

(E) Answer.not known

@pss Gaerell Weraumb gaaidbsmer Bl wnss QararL g :

A# B aeug A augssd B

A* B eretugy A Qumssd B

gmb eresruiculelr aupomend (A) yeluler aumonargfd (B) 80%.

sfluner Careveu sam_Ms :

(A) A=(100#80)*B
(B) A=80#100#B
G NA=(80#100)* B,
D) A=80+100*B
(E) oL Qsfucidaa
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136. Fill in the blanks with a suitab]e figure from the option given

7

e

©)

(E) Answer not known

L

A\

o
) O

APuLL @Lsdd sflwnar uLgdeoani @ Hriys

(©)

AN

(E) e Qgflueicene
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137. Statement : Nuclear power cannot make a country secure.

Courses of Action

I :  We should stop further increasing our nuclear power
I : We should destroy out nuclear capability
III : We should focus on improving diplomatic relations

(A) Only I follows

(B) Only II follows

(C) Only III follows

(D) BothlI and II follows

(E) Answer not known

M : e F&HwTed 'mm'_u.}a'n LTSIETUU 2 (heunéd (LpigWims).

BLeug Sengulilenr Cunés,

I '  pog sgussdew Cogib sdafliums Anss Coudm@ib.
I s ssdou ofss Cauam@n
III :.  grers o poysemer Cubupssiudd seuard Qegss Ceuam@ib

(A) prayses I wrEo s
B) pragses II wr v &
(O pragsams I we @o &
D) pregses I womibd 11 &f
(E) o9er_ Qsfucfdrena
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~ 138. Find the missing number

36 216

A) 4
B) 9
(C) 49

@n 16
(E) Answer not known

SPuLL @Lsos Hruys

36 216

A 4
B) 9
(C) 49

(D) 16
(E) e Qpflueilooams

25 125
5
25 126
5
127

64

64
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138. Find the missing numbey

T

36 216

(A) 4
®B) 9
(C) 49

BN 16
(E) Answer not known

APuLL @Lims Hlyiys

36 216

A 4
®B) 9
(C) 49

D) 16
(E) e Qpflweiidoe®

26 125
5
26 126
5
127

64

64
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139. January 1, 2007 was Monday. What day of the week lies on

January 1, 2008?.
(A) Monday (B) Tuesday
(C) Wednesday (D) Sunday

(E) Answer not known

1

gareufl 1, 2007 Hus dypew aafller geareud 1, 2008 erenan dleivwng

BosEn?
(A) Arusdyew ®Br Qs@mnuﬁéﬁgmm
(CR ysendlpao (D) erlpmé&dlpenio

(E) e Qsflwelerene

140. If 1st January of year 2020 is Thursday then what day of the week

lies on 1%t January 2021?

(A) Monday (B) Wednesday
(C) -Friday (D) Saturday
(E) Answer not known

2020 gareufl 1 <16 Gsd wmpsfpew eaafld 2021 Reeufl apge pHrer

GTEaTEnT éllzpanm ?

(A) Hmuser " (B) uygen
(O Qeucred . (D) saf
(E) &enr Qsflweldencw
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